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Geometry Units

Plan Dimensions: feet Slab Thickness: inches Support Dimensions: inches

Angles: degrees Elevations: inches Support Height: feet

Loading and Reaction Units

Point Force: Kips Line Force: kips/ft Area Force: psf

    - Report As Zero: 0 Kips     - Report As Zero: 0 kips/ft     - Report As Zero: 0 psf

Point Moment: kip-ft Line Moment: Kips Area Moment: #/foot

    - Report As Zero: 0 kip-ft     - Report As Zero: 0 Kips     - Report As Zero: 0 #/foot

Spring and Stiffness Units

Point Force Spring: kips/in Line Force Spring: ksi Area Force Spring: pci

Point Moment Spring: k-ft/° Line Moment Spring: k/° Area Moment Spring: k/ft°

Slab Analysis Units

Force: Kips Moment: kip-ft Concrete Stress: psi

    - Report As Zero: 0 Kips     - Report As Zero: 0 kip-ft     - Report As Zero: 0 psi

Force Per Width: kips/ft Moment Per Width: Kips Deflection: inches

    - Report As Zero: 0 kips/ft     - Report As Zero: 0 Kips     - Report As Zero: 0 inches

Materials Units

Concrete Volume: yd³ Reinforcing Area: in² Reinforcement Weight: tons

Tendon Force: Kips Tendon Force Per Width: kips/ft Tendon Profile: inches

Reinforcing Stress: ksi PT Weight: pounds Cover: inches

Miscellaneous Units

Floor Area: ft² Density: pcf Elongations: inches

Tendon Angles (for friction): radians Temperature Change: °F
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Positive Loads

Positive Analysis

Positive Reactions
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Concrete Mix
Mix
Name

Density
 (pcf)

Density For

Loads (pcf)

f'ci

(psi)

f'c

(psi)

fcui

(psi)

fcu

(psi)

Poissons

Ratio

Thermal Exp

Coeff Ec Calc

User Eci

(psi)

User Ec
(psi)

3000 psi 150 150 3000 3000 3725 3725 0.2 5.556e-6 Code 2500000 3000000

4000 psi 150 150 3000 4000 3725 4975 0.2 5.556e-6 Code 2500000 3000000

5000 psi 150 150 3000 5000 3725 6399 0.2 5.556e-6 Code 2500000 3000000

6000 psi 150 150 3000 6000 3725 7450 0.2 5.556e-6 Code 2500000 3000000

PT Systems

System 

Name Strand Duct Anchor

fse

(ksi)

Long-Term

Losses

(ksi)

Min Radius
(feet)

½" Unbonded ½" 7-Wire Strand ½" Unbonded Sheathing Monostrand Anchor 175 22 6

0.6" Unbonded 0.6" 7-Wire Strand 0.6" Unbonded Sheathing Monostrand Anchor 175 22 8

½" Bonded Flat Duct ½" 7-Wire Strand ½" Bonded Flat Duct Flat Duct Anchor 175 22 6

0.6" Bonded Flat Duct 0.6" 7-Wire Strand 0.6" Bonded Flat Duct Flat Duct Anchor 175 22 8

Strand Materials
Strand 

Name

Aps

(in²)

Eps

(ksi)

fpy

(ksi)

fpu

(ksi)

½" 7-Wire Strand 0.153 28000 243 270

0.6" 7-Wire Strand 0.217 28000 243 270

Duct Systems

Duct 

Name Type Shape Material

Duct 

Height

(inches)

Duct 

Width

(inches)

Max Strands

Per Duct

Wobble

 Friction

(1/feet)

Angular
 Friction
(1/radians)

½" Unbonded Sheathing unbonded Round Tightly Sheathed 0.5 0.5 1 0.0014 0.07

0.6" Unbonded Sheathing unbonded Round Tightly Sheathed 0.6 0.6 1 0.0014 0.07

½" Bonded Flat Duct bonded Flat Corrugated Plastic 1 3 5 0.0002 0.14

0.6" Bonded Flat Duct bonded Flat Corrugated Plastic 1 3 4 0.0002 0.14

Anchor Systems

Anchor 
Name Type

Jacking
Stress
(ksi)

Anchor 
Friction

Seating
Distance
(inches)

Monostrand Anchor Monostrand 216 0 0.25

Flat Duct Anchor Flat Multi-Plane 216 0.02 0.25
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Reinforcing Bars
Bar 
Name

As
(in²)

Es

(ksi)

Fy

(ksi) Coating

Straight

Ld/Db

90 Hook

Ld/Db

180 Hook

Ld/Db

#3 0.11 29000 60 None Code Code Code

#4 0.2 29000 60 None Code Code Code

#5 0.31 29000 60 None Code Code Code

#6 0.44 29000 60 None Code Code Code

#7 0.6 29000 60 None Code Code Code

#8 0.79 29000 60 None Code Code Code

#9 1 29000 60 None Code Code Code

#10 1.27 29000 60 None Code Code Code

#11 1.56 29000 60 None Code Code Code

SSR Systems

SSR System Name

Stud Area

(in²)

Head Area

(in²)

Min Clear Head

Spacing (inches)

Specified Stud

Spacing (inches)

Fy

(ksi)

Stud Spacing Rounding

Increment    (inches)

Min Studs

Per Rail

System

Type

3/8" SSR 0.11 1.11 0.5 None 50 0.25 2 Rail

1/2" SSR 0.196 1.96 0.5 None 50 0.25 2 Rail

5/8" SSR 0.307 3.07 0.5 None 50 0.25 2 Rail

3/4" SSR 0.442 4.42 0.5 None 50 0.25 2 Rail

South Hill 1015 Building Foundations - _Current - Braced Frame Grade Beams.cpt - 12/9/2024

Materials (2)

Materials - 7



Loading Name Type Analysis On-Pattern Factor Off-Pattern Factor

Self-Dead Loading Self-Weight Normal 1 1

Balance Loading Balance Normal 1 1

Balanced Load (transfer) Balance (transfer) Normal 1 1

Hyperstatic Loading Hyperstatic Hyperstatic 1 1

Construction Dead Load Stressing Dead Normal 1 1

Dead Load Dead Normal 1 1

Dead Load (transfer) Dead (transfer) Normal 1 1

Live Load Reducible Live (Reducible) Normal 1 0

Live Load Reducible (transfer) Live (Reducible) (transfer) Normal 1 0

Live Load Unreducible Live (Unreducible) Normal 1 0

Partition Load Live (Unreducible) Normal 1 0

Live Load Unreducible (transfer) Live (Unreducible) (transfer) Normal 1 0

Live Load Storage Live (Storage) Normal 1 0

Live Load Storage (transfer) Live (Storage) (transfer) Normal 1 0

Live Load Roof Live (Roof) Normal 1 0

Live Load Roof (transfer) Live (Roof) (transfer) Normal 1 0

Seismic(EQ_ASCE716_X_+E_F) Ultimate Seismic 1 (transfer) Normal 1 1

Seismic(EQ_ASCE716_X_-E_F) Ultimate Seismic 2 (transfer) Normal 1 1

Seismic(EQ_ASCE716_Y_+E_F) Ultimate Seismic 3 (transfer) Normal 1 1

Seismic(EQ_ASCE716_Y_-E_F) Ultimate Seismic 4 (transfer) Normal 1 1

Seismic(EQ_ASCE716_X_+E_0.3Y_+E_F) Ultimate Seismic 5 (transfer) Normal 1 1

Seismic(EQ_ASCE716_X_+E_-0.3Y_+E_F) Ultimate Seismic 6 (transfer) Normal 1 1

Seismic(EQ_ASCE716_-X_+E_0.3Y_+E_F) Ultimate Seismic 7 (transfer) Normal 1 1

Seismic(EQ_ASCE716_-X_+E_-0.3Y_+E_F) Ultimate Seismic 8 (transfer) Normal 1 1

Seismic(EQ_ASCE716_0.3X_+E_Y_+E_F) Ultimate Seismic 9 (transfer) Normal 1 1

Seismic(EQ_ASCE716_0.3X_+E_-Y_+E_F) Ultimate Seismic 10 (transfer) Normal 1 1

Seismic(EQ_ASCE716_-0.3X_+E_Y_+E_F) Ultimate Seismic 11 (transfer) Normal 1 1

Seismic(EQ_ASCE716_-0.3X_+E_-Y_+E_F) Ultimate Seismic 12 (transfer) Normal 1 1

Seismic(EQ_ASCE716_X_+E_0.3Y_-E_F) Ultimate Seismic 13 (transfer) Normal 1 1

Seismic(EQ_ASCE716_X_+E_-0.3Y_-E_F) Ultimate Seismic 14 (transfer) Normal 1 1

Seismic(EQ_ASCE716_-X_+E_0.3Y_-E_F) Ultimate Seismic 15 (transfer) Normal 1 1

Seismic(EQ_ASCE716_-X_+E_-0.3Y_-E_F) Ultimate Seismic 16 (transfer) Normal 1 1

Seismic(EQ_ASCE716_0.3X_+E_Y_-E_F) Ultimate Seismic 17 (transfer) Normal 1 1

Seismic(EQ_ASCE716_0.3X_+E_-Y_-E_F) Ultimate Seismic 18 (transfer) Normal 1 1

Seismic(EQ_ASCE716_-0.3X_+E_Y_-E_F) Ultimate Seismic 19 (transfer) Normal 1 1

Seismic(EQ_ASCE716_X_-E_0.3Y_+E_F) Service Seismic 20 (transfer) Normal 1 1

Seismic(EQ_ASCE716_-0.3X_+E_-Y_-E_F) Service Seismic 21 (transfer) Normal 1 1

Seismic(EQ_ASCE716_X_-E_-0.3Y_+E_F) Ultimate Seismic 22 (transfer) Normal 1 1

Seismic(EQ_ASCE716_-X_-E_0.3Y_+E_F) Ultimate Seismic 23 (transfer) Normal 1 1

Seismic(EQ_ASCE716_-X_-E_-0.3Y_+E_F) Ultimate Seismic 24 (transfer) Normal 1 1

Seismic(EQ_ASCE716_0.3X_-E_Y_+E_F) Ultimate Seismic 25 (transfer) Normal 1 1

Seismic(EQ_ASCE716_0.3X_-E_-Y_+E_F) Ultimate Seismic 26 (transfer) Normal 1 1

Seismic(EQ_ASCE716_-0.3X_-E_Y_+E_F) Ultimate Seismic 27 (transfer) Normal 1 1

Seismic(EQ_ASCE716_-0.3X_-E_-Y_+E_F) Ultimate Seismic 28 (transfer) Normal 1 1

Seismic(EQ_ASCE716_X_-E_0.3Y_-E_F) Ultimate Seismic 29 (transfer) Normal 1 1

Seismic(EQ_ASCE716_X_-E_-0.3Y_-E_F) Ultimate Seismic 30 (transfer) Normal 1 1

Seismic(EQ_ASCE716_-X_-E_0.3Y_-E_F) Ultimate Seismic 31 (transfer) Normal 1 1
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Seismic(EQ_ASCE716_-X_-E_-0.3Y_-E_F) Ultimate Seismic 32 (transfer) Normal 1 1

Seismic(EQ_ASCE716_0.3X_-E_Y_-E_F) Ultimate Seismic 33 (transfer) Normal 1 1

Seismic(EQ_ASCE716_0.3X_-E_-Y_-E_F) Ultimate Seismic 34 (transfer) Normal 1 1

Seismic(EQ_ASCE716_-0.3X_-E_Y_-E_F) Ultimate Seismic 35 (transfer) Normal 1 1

Seismic(EQ_ASCE716_-0.3X_-E_-Y_-E_F) Ultimate Seismic 36 (transfer) Normal 1 1
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Service LC: D
Active Design Criteria:   User Minimum Design,  Code Minimum Design,  Service Design,  Soil Bearing Design

Analysis: Zero-Tension

Loading Standard Factor

Self-Dead Loading 1

Balance Loading 1

Dead Load 1

Dead Load (transfer) 1

Balanced Load (transfer) 1

Service LC: D + L
Active Design Criteria:   User Minimum Design,  Code Minimum Design,  Service Design,  Soil Bearing Design

Analysis: Zero-Tension

Loading Standard Factor

Self-Dead Loading 1

Balance Loading 1

Dead Load 1

Dead Load (transfer) 1

Live Load Reducible 1

Live Load Reducible (transfer) 1

Live Load Unreducible 1

Live Load Unreducible (transfer) 1

Live Load Storage 1

Live Load Storage (transfer) 1

Balanced Load (transfer) 1

Partition Load 1

Service LC: D +0.75( L + S)
Active Design Criteria:   User Minimum Design,  Code Minimum Design,  Service Design,  Soil Bearing Design

Analysis: Zero-Tension

Loading Standard Factor

Self-Dead Loading 1

Balance Loading 1

Dead Load 1

Dead Load (transfer) 1

Live Load Reducible 0.75

Live Load Reducible (transfer) 0.75

Live Load Unreducible 0.75

Live Load Unreducible (transfer) 0.75

Live Load Storage 0.75

Live Load Storage (transfer) 0.75

Live Load Roof 0.75

Live Load Roof (transfer) 0.75

Balanced Load (transfer) 1

Partition Load 1
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Service Seismic LC: 1.14D + 0.7E
Active Design Criteria:   Soil Bearing Design

Analysis: Zero-Tension

Key Lateral Loading: Seismic-Ultimate         Standard Factor: 0.7

Loading Standard Factor

Self-Dead Loading 1.14

Dead Load 1.14

Dead Load (transfer) 1.14

Service Seismic LC: 1.14D - 0.7E
Active Design Criteria:   Soil Bearing Design

Analysis: Zero-Tension

Key Lateral Loading: Seismic-Ultimate         Standard Factor: -0.7

Loading Standard Factor

Self-Dead Loading 1.14

Dead Load 1.14

Dead Load (transfer) 1.14

Service Seismic LC: 1.11D + 0.75(L + S) + 0.525E
Active Design Criteria:   Soil Bearing Design

Analysis: Zero-Tension

Key Lateral Loading: Seismic-Ultimate         Standard Factor: 0.525

Loading Standard Factor

Self-Dead Loading 1.11

Dead Load 1.11

Dead Load (transfer) 1.11

Live Load Reducible 0.75

Live Load Reducible (transfer) 0.75

Live Load Unreducible 0.75

Live Load Unreducible (transfer) 0.75

Live Load Storage 0.75

Live Load Storage (transfer) 0.75

Live Load Roof 0.75

Live Load Roof (transfer) 0.75
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Service Seismic LC: 1.11D + 0.75(L + S) + 0.525E
Active Design Criteria:   Soil Bearing Design

Analysis: Zero-Tension

Key Lateral Loading: Seismic-Ultimate         Standard Factor: -0.525

Loading Standard Factor

Self-Dead Loading 1.11

Dead Load 1.11

Dead Load (transfer) 1.11

Live Load Reducible 0.75

Live Load Reducible (transfer) 0.75

Live Load Unreducible 0.75

Live Load Unreducible (transfer) 0.75

Live Load Storage 0.75

Live Load Storage (transfer) 0.75

Live Load Roof 0.75

Live Load Roof (transfer) 0.75

Service Seismic LC: 0.6D + 0.7E
Active Design Criteria:   Soil Bearing Design

Analysis: Zero-Tension

Key Lateral Loading: Seismic-Ultimate         Standard Factor: 0.7

Loading Standard Factor

Self-Dead Loading 0.8

Dead Load 0.8

Dead Load (transfer) 0.6

Service Seismic LC: 0.6D - 0.7E
Active Design Criteria:   Soil Bearing Design

Analysis: Zero-Tension

Key Lateral Loading: Seismic-Ultimate         Standard Factor: -0.7

Loading Standard Factor

Self-Dead Loading 0.8

Dead Load 0.8

Dead Load (transfer) 0.6
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Sustained Service LC
Active Design Criteria:   Sustained Service Design

Analysis: Zero-Tension

Loading Standard Factor

Self-Dead Loading 1

Balance Loading 1

Dead Load 1

Dead Load (transfer) 1

Live Load Reducible 0.5

Live Load Reducible (transfer) 0.5

Live Load Unreducible 0.5

Live Load Unreducible (transfer) 0.5

Live Load Storage 1

Live Load Storage (transfer) 1

Live Load Roof 0.5

Live Load Roof (transfer) 0.5

Balanced Load (transfer) 1

Partition Load 0.5

Factored LC: 1.4D
Active Design Criteria:   User Minimum Design,  Code Minimum Design,  Strength Design,  Ductility Design

Analysis: Zero-Tension

Loading Standard Factor

Self-Dead Loading 1.4

Hyperstatic Loading 1

Dead Load 1.4

Dead Load (transfer) 1.4

Factored LC: 1.2D + 1.6L + 0.5S
Active Design Criteria:   User Minimum Design,  Code Minimum Design,  Strength Design,  Ductility Design

Analysis: Zero-Tension

Loading Standard Factor

Self-Dead Loading 1.2

Hyperstatic Loading 1

Dead Load 1.2

Dead Load (transfer) 1.2

Live Load Reducible 1.6

Live Load Reducible (transfer) 1.6

Live Load Unreducible 1.6

Live Load Unreducible (transfer) 1.6

Live Load Storage 1.6

Live Load Storage (transfer) 1.6

Live Load Roof 0.5

Live Load Roof (transfer) 0.5

Partition Load 1.6
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Factored LC: 1.2D + 0.5L + 1.6S
Active Design Criteria:   User Minimum Design,  Code Minimum Design,  Strength Design,  Ductility Design

Analysis: Zero-Tension

Loading Standard Factor

Self-Dead Loading 1.2

Hyperstatic Loading 1

Dead Load 1.2

Dead Load (transfer) 1.2

Live Load Reducible 0.5

Live Load Reducible (transfer) 0.5

Live Load Unreducible 0.5

Live Load Unreducible (transfer) 0.5

Live Load Storage 0.5

Live Load Storage (transfer) 0.5

Live Load Roof 1.6

Live Load Roof (transfer) 1.6

Partition Load 0.5

Factored Seismic LC: 1.4D + 0.5L + 0.2S + E
Active Design Criteria:   User Minimum Design,  Code Minimum Design,  Strength Design,  Ductility Design

Analysis: Zero-Tension

Key Lateral Loading: Seismic-Ultimate         Standard Factor: 1

Loading Standard Factor

Self-Dead Loading 1.4

Hyperstatic Loading 1

Dead Load 1.4

Dead Load (transfer) 1.4

Live Load Reducible 0.5

Live Load Reducible (transfer) 0.5

Live Load Unreducible 0.5

Live Load Unreducible (transfer) 0.5

Live Load Storage 0.5

Live Load Storage (transfer) 0.5

Live Load Roof 0.2

Live Load Roof (transfer) 0.2

Partition Load 1
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Factored Seismic LC: 1.4D + 0.5L + 0.2S - E
Active Design Criteria:   User Minimum Design,  Code Minimum Design,  Strength Design,  Ductility Design

Analysis: Zero-Tension

Key Lateral Loading: Seismic-Ultimate         Standard Factor: -1

Loading Standard Factor

Self-Dead Loading 1.4

Hyperstatic Loading 1

Dead Load 1.4

Dead Load (transfer) 1.4

Live Load Reducible 0.5

Live Load Reducible (transfer) 0.5

Live Load Unreducible 0.5

Live Load Unreducible (transfer) 0.5

Live Load Storage 0.5

Live Load Storage (transfer) 0.5

Live Load Roof 0.2

Live Load Roof (transfer) 0.2

Partition Load 1

Factored Seismic LC: 0.7D + E
Active Design Criteria:   User Minimum Design,  Code Minimum Design,  Strength Design,  Ductility Design

Analysis: Zero-Tension

Key Lateral Loading: Seismic-Ultimate         Standard Factor: 1

Loading Standard Factor

Self-Dead Loading 0.7

Hyperstatic Loading 1

Dead Load 0.7

Dead Load (transfer) 0.7

Factored Seismic LC: 0.7D - E
Active Design Criteria:   User Minimum Design,  Code Minimum Design,  Strength Design,  Ductility Design

Analysis: Zero-Tension

Key Lateral Loading: Seismic-Ultimate         Standard Factor: -1

Loading Standard Factor

Self-Dead Loading 0.7

Hyperstatic Loading 1

Dead Load 0.7

Dead Load (transfer) 0.7
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Service LC: D + S
Active Design Criteria:   <none>

Analysis: Zero-Tension

Loading Standard Factor

Self-Dead Loading 1

Balance Loading 1

Dead Load 1

Dead Load (transfer) 1

Live Load Roof 1

Live Load Roof (transfer) 1

South Hill 1015 Building Foundations - _Current - Braced Frame Grade Beams.cpt - 12/9/2024
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Calculating Through Detailing (Everything Out-of-Date)(Considering Previous Warnings)

Active Calculation Options:

      The structure is not automatically stabilized in the X and Y directions.

      Supports above slab NOT included in self-dead loading.

      Tendon vertical component NOT considered in punch check reactions.

      Perform check only. No reinforcement to be designed.

      6 zero-tension iterations are used to eliminate tension in area springs.

      Creep Factor of 3.35 used in ECR calculations.

      Shrinkage strain of 0.0004 used in ECR calculations.

      ACI 318-19 is used in design.

      Live load reduction not used

Stiffness matrix is already up to date.

Self-dead load creation is already up to date.

Generated tendons are already up to date.

Balance load creation is already up to date.

User reinforcement detailing is already up to date.

Concrete cross section calcs are already up to date.

Tendon cross section calcs are already up to date.

Reinforcing bar cross section calcs are already up to date.

Live load reduction calcs are already up to date.

Self-Dead Loading is already up to date.

Balance Loading is already up to date.

Balanced Load (transfer) is already up to date.

Construction Dead Load is already up to date.

Dead Load is already up to date.

Dead Load (transfer) is already up to date.

Live Load Reducible is already up to date.

Live Load Reducible (transfer) is already up to date.

Live Load Unreducible is already up to date.

Partition Load is already up to date.

Live Load Unreducible (transfer) is already up to date.

Live Load Storage is already up to date.

Live Load Storage (transfer) is already up to date.

Live Load Roof is already up to date.

Live Load Roof (transfer) is already up to date.

Solving for Seismic(EQ_ASCE716_X_+E_F).

      Solving for Seismic(EQ_ASCE716_X_+E_F) - Pattern: Full Pattern.

            Total Loads: (1310,-0.0158,-0.0248) Kips

            Total Reactions: (-1310,0.0158,0.0248) Kips

            Load-Reaction Tolerance: (2.11e-10,-1.82e-12,-7.33e-10) Kips

Solving for Seismic(EQ_ASCE716_X_-E_F).

      Solving for Seismic(EQ_ASCE716_X_-E_F) - Pattern: Full Pattern.

            Total Loads: (1310,-0.146,0.0116) Kips

            Total Reactions: (-1310,0.146,-0.0116) Kips

            Load-Reaction Tolerance: (-1.19e-11,-2.06e-11,-8.77e-10) Kips

Solving for Seismic(EQ_ASCE716_Y_+E_F).

      Solving for Seismic(EQ_ASCE716_Y_+E_F) - Pattern: Full Pattern.

            Total Loads: (-0.0604,1360,-0.322) Kips

            Total Reactions: (0.0604,-1360,0.322) Kips

            Load-Reaction Tolerance: (-8.15e-11,3.33e-10,-5.62e-10) Kips

Solving for Seismic(EQ_ASCE716_Y_-E_F).

      Solving for Seismic(EQ_ASCE716_Y_-E_F) - Pattern: Full Pattern.

            Total Loads: (0.0925,1360,-0.348) Kips

            Total Reactions: (-0.0925,-1360,0.348) Kips

            Load-Reaction Tolerance: (-1.2e-12,3.42e-10,-5.35e-10) Kips

Solving for Seismic(EQ_ASCE716_X_+E_0.3Y_+E_F).

      Solving for Seismic(EQ_ASCE716_X_+E_0.3Y_+E_F) - Pattern: Full Pattern.

            Total Loads: (1310,408,-0.121) Kips

            Total Reactions: (-1310,-408,0.121) Kips

            Load-Reaction Tolerance: (1.68e-10,9.81e-11,-9.01e-10) Kips

Solving for Seismic(EQ_ASCE716_X_+E_-0.3Y_+E_F).

      Solving for Seismic(EQ_ASCE716_X_+E_-0.3Y_+E_F) - Pattern: Full Pattern.

            Total Loads: (1310,-408,0.0717) Kips

            Total Reactions: (-1310,408,-0.0717) Kips

            Load-Reaction Tolerance: (2.4e-10,-1.03e-10,-5.64e-10) Kips

Solving for Seismic(EQ_ASCE716_-X_+E_0.3Y_+E_F).
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      Solving for Seismic(EQ_ASCE716_-X_+E_0.3Y_+E_F) - Pattern: Full Pattern.

            Total Loads: (-1310,408,-0.0717) Kips

            Total Reactions: (1310,-408,0.0717) Kips

            Load-Reaction Tolerance: (-2.24e-10,9.97e-11,5.65e-10) Kips

Solving for Seismic(EQ_ASCE716_-X_+E_-0.3Y_+E_F).

      Solving for Seismic(EQ_ASCE716_-X_+E_-0.3Y_+E_F) - Pattern: Full Pattern.

            Total Loads: (-1310,-408,0.121) Kips

            Total Reactions: (1310,408,-0.121) Kips

            Load-Reaction Tolerance: (-1.76e-10,-9.7e-11,9.01e-10) Kips

Solving for Seismic(EQ_ASCE716_0.3X_+E_Y_+E_F).

      Solving for Seismic(EQ_ASCE716_0.3X_+E_Y_+E_F) - Pattern: Full Pattern.

            Total Loads: (392,1360,-0.329) Kips

            Total Reactions: (-392,-1360,0.329) Kips

            Load-Reaction Tolerance: (-1.97e-11,3.2e-10,-7.8e-10) Kips

Solving for Seismic(EQ_ASCE716_0.3X_+E_-Y_+E_F).

      Solving for Seismic(EQ_ASCE716_0.3X_+E_-Y_+E_F) - Pattern: Full Pattern.

            Total Loads: (392,-1360,0.314) Kips

            Total Reactions: (-392,1360,-0.314) Kips

            Load-Reaction Tolerance: (1.38e-10,-3.25e-10,3.4e-10) Kips

Solving for Seismic(EQ_ASCE716_-0.3X_+E_Y_+E_F).

      Solving for Seismic(EQ_ASCE716_-0.3X_+E_Y_+E_F) - Pattern: Full Pattern.

            Total Loads: (-392,1360,-0.314) Kips

            Total Reactions: (392,-1360,0.314) Kips

            Load-Reaction Tolerance: (-1.38e-10,3.25e-10,-3.4e-10) Kips

Solving for Seismic(EQ_ASCE716_-0.3X_+E_-Y_+E_F).

      Solving for Seismic(EQ_ASCE716_-0.3X_+E_-Y_+E_F) - Pattern: Full Pattern.

            Total Loads: (-392,-1360,0.329) Kips

            Total Reactions: (392,1360,-0.329) Kips

            Load-Reaction Tolerance: (1.89e-11,-3.24e-10,7.83e-10) Kips

Solving for Seismic(EQ_ASCE716_X_+E_0.3Y_-E_F).

      Solving for Seismic(EQ_ASCE716_X_+E_0.3Y_-E_F) - Pattern: Full Pattern.

            Total Loads: (1310,408,-0.129) Kips

            Total Reactions: (-1310,-408,0.129) Kips

            Load-Reaction Tolerance: (2.06e-10,1.01e-10,-8.92e-10) Kips

Solving for Seismic(EQ_ASCE716_X_+E_-0.3Y_-E_F).

      Solving for Seismic(EQ_ASCE716_X_+E_-0.3Y_-E_F) - Pattern: Full Pattern.

            Total Loads: (1310,-408,0.0795) Kips

            Total Reactions: (-1310,408,-0.0795) Kips

            Load-Reaction Tolerance: (1.96e-10,-1.08e-10,-5.74e-10) Kips

Solving for Seismic(EQ_ASCE716_-X_+E_0.3Y_-E_F).

      Solving for Seismic(EQ_ASCE716_-X_+E_0.3Y_-E_F) - Pattern: Full Pattern.

            Total Loads: (-1310,408,-0.0795) Kips

            Total Reactions: (1310,-408,0.0795) Kips

            Load-Reaction Tolerance: (-1.87e-10,1.03e-10,5.73e-10) Kips

Solving for Seismic(EQ_ASCE716_-X_+E_-0.3Y_-E_F).

      Solving for Seismic(EQ_ASCE716_-X_+E_-0.3Y_-E_F) - Pattern: Full Pattern.

            Total Loads: (-1310,-408,0.129) Kips

            Total Reactions: (1310,408,-0.129) Kips

            Load-Reaction Tolerance: (-1.98e-10,-9.96e-11,8.93e-10) Kips

Solving for Seismic(EQ_ASCE716_0.3X_+E_Y_-E_F).

      Solving for Seismic(EQ_ASCE716_0.3X_+E_Y_-E_F) - Pattern: Full Pattern.

            Total Loads: (392,1360,-0.355) Kips

            Total Reactions: (-392,-1360,0.355) Kips

            Load-Reaction Tolerance: (6.33e-11,3.4e-10,-7.55e-10) Kips

Solving for Seismic(EQ_ASCE716_0.3X_+E_-Y_-E_F).

      Solving for Seismic(EQ_ASCE716_0.3X_+E_-Y_-E_F) - Pattern: Full Pattern.

            Total Loads: (392,-1360,0.34) Kips

            Total Reactions: (-392,1360,-0.34) Kips

            Load-Reaction Tolerance: (6.38e-11,-3.31e-10,3.13e-10) Kips

Solving for Seismic(EQ_ASCE716_-0.3X_+E_Y_-E_F).

      Solving for Seismic(EQ_ASCE716_-0.3X_+E_Y_-E_F) - Pattern: Full Pattern.

            Total Loads: (-392,1360,-0.34) Kips

            Total Reactions: (392,-1360,0.34) Kips

            Load-Reaction Tolerance: (-6.38e-11,3.31e-10,-3.13e-10) Kips

Solving for Seismic(EQ_ASCE716_X_-E_0.3Y_+E_F).

      Solving for Seismic(EQ_ASCE716_X_-E_0.3Y_+E_F) - Pattern: Full Pattern.
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            Total Loads: (1310,408,-0.0848) Kips

            Total Reactions: (-1310,-408,0.0848) Kips

            Load-Reaction Tolerance: (-3.79e-11,7.71e-11,-1.05e-9) Kips

Solving for Seismic(EQ_ASCE716_-0.3X_+E_-Y_-E_F).

      Solving for Seismic(EQ_ASCE716_-0.3X_+E_-Y_-E_F) - Pattern: Full Pattern.

            Total Loads: (-392,-1360,0.355) Kips

            Total Reactions: (392,1360,-0.355) Kips

            Load-Reaction Tolerance: (-5.95e-11,-3.44e-10,7.52e-10) Kips

Solving for Seismic(EQ_ASCE716_X_-E_-0.3Y_+E_F).

      Solving for Seismic(EQ_ASCE716_X_-E_-0.3Y_+E_F) - Pattern: Full Pattern.

            Total Loads: (1310,-408,0.108) Kips

            Total Reactions: (-1310,408,-0.108) Kips

            Load-Reaction Tolerance: (1.57e-11,-1.21e-10,-7.11e-10) Kips

Solving for Seismic(EQ_ASCE716_-X_-E_0.3Y_+E_F).

      Solving for Seismic(EQ_ASCE716_-X_-E_0.3Y_+E_F) - Pattern: Full Pattern.

            Total Loads: (-1310,408,-0.108) Kips

            Total Reactions: (1310,-408,0.108) Kips

            Load-Reaction Tolerance: (-5.65e-12,1.2e-10,7.11e-10) Kips

Solving for Seismic(EQ_ASCE716_-X_-E_-0.3Y_+E_F).

      Solving for Seismic(EQ_ASCE716_-X_-E_-0.3Y_+E_F) - Pattern: Full Pattern.

            Total Loads: (-1310,-408,0.0848) Kips

            Total Reactions: (1310,408,-0.0848) Kips

            Load-Reaction Tolerance: (6.39e-11,-7.67e-11,1.05e-9) Kips

Solving for Seismic(EQ_ASCE716_0.3X_-E_Y_+E_F).

      Solving for Seismic(EQ_ASCE716_0.3X_-E_Y_+E_F) - Pattern: Full Pattern.

            Total Loads: (392,1360,-0.318) Kips

            Total Reactions: (-392,-1360,0.318) Kips

            Load-Reaction Tolerance: (-8.57e-11,3.22e-10,-8.22e-10) Kips

Solving for Seismic(EQ_ASCE716_0.3X_-E_-Y_+E_F).

      Solving for Seismic(EQ_ASCE716_0.3X_-E_-Y_+E_F) - Pattern: Full Pattern.

            Total Loads: (392,-1360,0.325) Kips

            Total Reactions: (-392,1360,-0.325) Kips

            Load-Reaction Tolerance: (8.2e-11,-3.37e-10,2.97e-10) Kips

Solving for Seismic(EQ_ASCE716_-0.3X_-E_Y_+E_F).

      Solving for Seismic(EQ_ASCE716_-0.3X_-E_Y_+E_F) - Pattern: Full Pattern.

            Total Loads: (-392,1360,-0.325) Kips

            Total Reactions: (392,-1360,0.325) Kips

            Load-Reaction Tolerance: (-8.2e-11,3.37e-10,-2.97e-10) Kips

Solving for Seismic(EQ_ASCE716_-0.3X_-E_-Y_+E_F).

      Solving for Seismic(EQ_ASCE716_-0.3X_-E_-Y_+E_F) - Pattern: Full Pattern.

            Total Loads: (-392,-1360,0.318) Kips

            Total Reactions: (392,1360,-0.318) Kips

            Load-Reaction Tolerance: (8.25e-11,-3.31e-10,8.25e-10) Kips

Solving for Seismic(EQ_ASCE716_X_-E_0.3Y_-E_F).

      Solving for Seismic(EQ_ASCE716_X_-E_0.3Y_-E_F) - Pattern: Full Pattern.

            Total Loads: (1310,408,-0.0927) Kips

            Total Reactions: (-1310,-408,0.0927) Kips

            Load-Reaction Tolerance: (-2.07e-11,7.73e-11,-1.04e-9) Kips

Solving for Seismic(EQ_ASCE716_X_-E_-0.3Y_-E_F).

      Solving for Seismic(EQ_ASCE716_X_-E_-0.3Y_-E_F) - Pattern: Full Pattern.

            Total Loads: (1310,-408,0.116) Kips

            Total Reactions: (-1310,408,-0.116) Kips

            Load-Reaction Tolerance: (-2.03e-11,-1.23e-10,-7.18e-10) Kips

Solving for Seismic(EQ_ASCE716_-X_-E_0.3Y_-E_F).

      Solving for Seismic(EQ_ASCE716_-X_-E_0.3Y_-E_F) - Pattern: Full Pattern.

            Total Loads: (-1310,408,-0.116) Kips

            Total Reactions: (1310,-408,0.116) Kips

            Load-Reaction Tolerance: (2.11e-11,1.23e-10,7.18e-10) Kips

Solving for Seismic(EQ_ASCE716_-X_-E_-0.3Y_-E_F).

      Solving for Seismic(EQ_ASCE716_-X_-E_-0.3Y_-E_F) - Pattern: Full Pattern.

            Total Loads: (-1310,-408,0.0927) Kips

            Total Reactions: (1310,408,-0.0927) Kips

            Load-Reaction Tolerance: (2.28e-11,-7.78e-11,1.04e-9) Kips

Solving for Seismic(EQ_ASCE716_0.3X_-E_Y_-E_F).

      Solving for Seismic(EQ_ASCE716_0.3X_-E_Y_-E_F) - Pattern: Full Pattern.

            Total Loads: (392,1360,-0.344) Kips
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            Total Reactions: (-392,-1360,0.344) Kips

            Load-Reaction Tolerance: (-5.13e-12,3.35e-10,-7.99e-10) Kips

Solving for Seismic(EQ_ASCE716_0.3X_-E_-Y_-E_F).

      Solving for Seismic(EQ_ASCE716_0.3X_-E_-Y_-E_F) - Pattern: Full Pattern.

            Total Loads: (392,-1360,0.351) Kips

            Total Reactions: (-392,1360,-0.351) Kips

            Load-Reaction Tolerance: (-2.15e-12,-3.34e-10,2.67e-10) Kips

Solving for Seismic(EQ_ASCE716_-0.3X_-E_Y_-E_F).

      Solving for Seismic(EQ_ASCE716_-0.3X_-E_Y_-E_F) - Pattern: Full Pattern.

            Total Loads: (-392,1360,-0.351) Kips

            Total Reactions: (392,-1360,0.351) Kips

            Load-Reaction Tolerance: (2.15e-12,3.34e-10,-2.67e-10) Kips

Solving for Seismic(EQ_ASCE716_-0.3X_-E_-Y_-E_F).

      Solving for Seismic(EQ_ASCE716_-0.3X_-E_-Y_-E_F) - Pattern: Full Pattern.

            Total Loads: (-392,-1360,0.344) Kips

            Total Reactions: (392,1360,-0.344) Kips

            Load-Reaction Tolerance: (1.2e-12,-3.36e-10,7.94e-10) Kips

Calculating Precompression in Cross Sections

      Solving for Hyperstatic Loading.

Solving for Service LC: D.

Solving for Service LC: D + L.

Solving for Service LC: D +0.75( L + S).

Solving for Service Seismic LC: 1.14D + 0.7E.

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.028, 0.974, 1.025, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.008, 0.9918, 1.008, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 0.9831, 1.017, 0.9828, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.069, 0.9431, 1.052, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1, 0.9999, 1, 1, 1

Solving for Service Seismic LC: 1.14D - 0.7E.

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.008, 0.9918, 1.008, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.048, 0.9582, 1.039, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1, 0.9999, 1, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.069, 0.9431, 1.052, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 0.9831, 1.017, 0.9828, 1, 1

Solving for Service Seismic LC: 1.11D + 0.75(L + S) + 0.525E.

Solving for Service Seismic LC: 1.11D + 0.75(L + S) + 0.525E.

Solving for Service Seismic LC: 0.6D + 0.7E.

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.205, 0.892, 1.067, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.058, 1.014, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.314, 0.9198, 0.9938, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 0.7555, 1.333, 0.6193, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.175, 0.9002, 1.063, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.244, 0.8929, 1.05, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.269, 0.8919, 1.039, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 0.9879, 0.9914, 1.003, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.198, 0.9025, 1.01, 1, 1

      Performing zero-tension iterations.
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            Accelerator Factors: 1, 1.429, 0.9464, 0.9973, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.357, 0.9501, 1, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.018, 1.015, 0.9386, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.278, 0.8997, 1.032, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.239, 0.8982, 1.048, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.147, 0.9024, 1.071, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.176, 0.8963, 1.065, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.172, 0.9012, 1.069, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.495, 0.9763, 0.9866, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 0.9956, 0.9929, 1.004, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.026, 1.002, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.032, 1.002, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.068, 1.018, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.389, 0.9193, 1.016, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.488, 0.9782, 0.9914, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.183, 0.9128, 1.067, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.246, 0.915, 1.042, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.036, 1.004, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.062, 1.015, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.073, 1.018, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.03, 1.003, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.121, 0.9169, 1.067, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.015, 0.9885, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 0.9863, 1.011, 0.9884, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.094, 0.928, 1.062, 1, 1

Solving for Service Seismic LC: 0.6D - 0.7E.

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.04, 0.9554, 1.055, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.049, 1.01, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.195, 0.8855, 1.077, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.229, 0.8957, 1.052, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 0.9879, 0.9914, 1.003, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.269, 0.8919, 1.039, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.244, 0.8929, 1.05, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.175, 0.9002, 1.063, 1, 1
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      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.018, 1.015, 0.9386, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.357, 0.9501, 1, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.429, 0.9464, 0.9973, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.198, 0.9025, 1.01, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.176, 0.8963, 1.065, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.147, 0.9024, 1.071, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.239, 0.8982, 1.048, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.278, 0.8997, 1.032, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.177, 0.897, 1.07, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 0.9956, 0.9929, 1.004, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.495, 0.9763, 0.9866, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.032, 1.002, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.026, 1.002, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.073, 1.019, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.246, 0.915, 1.042, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.183, 0.9128, 1.067, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.488, 0.9782, 0.9914, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.389, 0.9193, 1.016, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.03, 1.003, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.073, 1.018, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.062, 1.015, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.036, 1.004, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.094, 0.928, 1.062, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 0.9863, 1.011, 0.9884, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.015, 0.9885, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.121, 0.9169, 1.067, 1, 1

Solving for Sustained Service LC.

Solving for Factored LC: 1.4D.

Solving for Factored LC: 1.2D + 1.6L + 0.5S.

Solving for Factored LC: 1.2D + 0.5L + 1.6S.

Solving for Factored Seismic LC: 1.4D + 0.5L + 0.2S + E.

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.14, 0.9092, 1.07, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.112, 0.9221, 1.064, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.013, 0.9877, 1.012, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.05, 0.9565, 1.041, 1, 1

      Performing zero-tension iterations.
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            Accelerator Factors: 1, 1.084, 0.9357, 1.057, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.198, 0.8961, 1.06, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.071, 0.9423, 1.052, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 0.9867, 1.013, 0.9866, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 0.06571, 1.333, 0.03703, 1, 1

Solving for Factored Seismic LC: 1.4D + 0.5L + 0.2S - E.

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.025, 0.9771, 1.022, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.013, 0.9877, 1.012, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.112, 0.9221, 1.064, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.168, 0.9029, 1.062, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 0.9867, 1.013, 0.9866, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.071, 0.9423, 1.052, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.198, 0.8961, 1.06, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.084, 0.9357, 1.057, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 0.06571, 1.333, 0.03703, 1, 1

Solving for Factored Seismic LC: 0.7D + E.

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.132, 1.053, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.229, 1.116, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.2, 1.099, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.183, 1.09, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.13, 1.05, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.149, 1.057, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.195, 1.098, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.159, 1.078, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.201, 1.098, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.23, 1.113, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.22, 1.111, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.203, 1.102, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.15, 1.063, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.132, 1.049, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.175, 1.081, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.182, 1.094, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.193, 1.096, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.22, 1.108, 1, 1

      Performing zero-tension iterations.
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            Accelerator Factors: 1, 1.5, 1.206, 1.102, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.233, 1.115, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.233, 1.117, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.24, 1.123, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.206, 1.102, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.227, 1.111, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.209, 1.104, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.211, 1.107, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.218, 1.11, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.244, 1.122, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.245, 1.125, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.228, 1.115, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.2, 1.097, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.214, 1.106, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.192, 1.097, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.203, 1.104, 1, 1

Solving for Factored Seismic LC: 0.7D - E.

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.181, 1.09, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.238, 1.121, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.195, 1.093, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.187, 1.089, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.159, 1.078, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.195, 1.098, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.149, 1.057, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.13, 1.05, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.203, 1.102, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.22, 1.111, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.23, 1.113, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.201, 1.098, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.182, 1.094, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.175, 1.081, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.132, 1.049, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.15, 1.063, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.193, 1.099, 1, 1
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      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.206, 1.102, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.22, 1.108, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.233, 1.117, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.233, 1.115, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.233, 1.12, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.211, 1.107, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.209, 1.104, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.227, 1.111, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.206, 1.102, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.228, 1.115, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.245, 1.125, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.244, 1.122, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.218, 1.11, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.203, 1.104, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.192, 1.097, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.214, 1.106, 1, 1

      Performing zero-tension iterations.

            Accelerator Factors: 1, 1.5, 1.2, 1.097, 1, 1

Solving for Service LC: D + S.

Calculating Strength Design envelopes.

Calculating Code Minimum Design envelopes.

Calculating Ductility Design envelopes.

Initial Service Design envelopes are already up to date.

Calculating Service Design envelopes.

Calculating Soil Bearing Design envelopes.

Calculating Sustained Service Design envelopes.

Calculating User Minimum Design envelopes.

Calculating Strength Design - Pass 0

Calculating Code Minimum Design - Pass 0

Calculating Ductility Design - Pass 0

Calculating Service Design - Pass 0

Calculating Soil Bearing Design - Pass 0

Calculating Sustained Service Design - Pass 0

Calculating User Minimum Design - Pass 0

Calculating Strength Design - Pass 1

Calculating Code Minimum Design - Pass 1

Calculating Ductility Design - Pass 1

Calculating Service Design - Pass 1

Calculating Soil Bearing Design - Pass 1

Calculating Sustained Service Design - Pass 1

Calculating User Minimum Design - Pass 1

Calculating Strength Design - Pass 2

Calculating Code Minimum Design - Pass 2

Calculating Ductility Design - Pass 2

Calculating Service Design - Pass 2

Calculating Soil Bearing Design - Pass 2

Calculating Sustained Service Design - Pass 2

Calculating User Minimum Design - Pass 2

Calculating Strength Design - Final Design Check

Calculating Code Minimum Design - Final Design Check

South Hill 1015 Building Foundations - _Current - Braced Frame Grade Beams.cpt - 12/9/2024

Calc Log (9)

Calc Log - 190



Calculating Ductility Design - Final Design Check

Calculating Service Design - Final Design Check

Calculating Soil Bearing Design - Final Design Check

Calculating Sustained Service Design - Final Design Check

Calculating User Minimum Design - Final Design Check

Laying Out Program Reinforcement

Optimizing Program Reinforcement Layout

Converting SSR Designs

Converting Program Transverse Bar Designs

Detailing User Transverse Reinforcement

Detailing Program Reinforcement

Estimating Costs

Deflection Checks are already up to date.

This analysis has been completed successfully, check above for any warnings or errors.
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